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Instructions:

There are 15 multiple choice questions each worth 2 points for a total of 30 points.  Please pick the best answer from the choices available.  There are also 14 short answer questions worth 5 points each for a total of 70 points.  Your answers may be a few words, a single sentence, or a short paragraph.  Make sure your answers are complete as written without reference to non-included material.  Assume the question is asking about US law unless specifically identified otherwise.
By submitting this test, you agree that your work on the test including your answers is your own.  While you may consult your book, notes, and any available recording, you may not consult with any other person including other students in completing your test UNLESS that person is your class student partner and specifically named above.  If you decide to use this optional partner on the test, you must submit only one completed test with both of your names indicated above.
Multiple Choice Questions:

1 – After filing which types of application(s) does the patent office ultimately make a substantive review and issue an office action?
A – Nonprovisional patent application
B – Provisional patent application
C – A & B
D – None of the above

2 – You must conduct a patent search prior to filing a nonprovisional patent application.
A – True

B – False
3 – A co-inventor only has joint rights to the portion of the patent of which he or she is a named joint inventor.

A – True

B – False
4 – During a jury trial for patent infringement, the infringement analysis has two steps—the first of which is performed by a judge and not by the jury.
A – True

B – False
5 – During patent prosecution, you can narrow the range of something in the claims with only broad support for the range as claimed.

A – True

B – False
6 – An admission can count as prior art against you during patent prosecution.

A – True

B – False
7 – Claims that starts off with a claim limitation referencing “means for” will always be interpreted under the 112, paragraph 6 (or 112(f).

A – True

B – False
8 – Drafting a patent specification that has too much ambiguity can cause otherwise valid claims to be deemed invalid.

A – True

B – False
9 – A hybrid transition is open to additional claim elements.

A – Yes

B – No

C – Maybe

10 – A proper rejection for failing to provide antecedent basis during patent prosecution can only be resolved by:

A – Amending the claim

B – Cancelling the claim

C – A & B

D – None of the above

11 – A dependent claim can be broader than the claim on which it depends.

A – True

B – False
12 – An Examiner must show a specific hint or suggestion in a reference to use common sense as a basis for a rejection.
A – True

B – False
13 – A claim directed to an abstract idea can still be patented.

A – True

B – False
14 – The patent office uses examples of ideas found to be abstract to reject current claims by comparison in pending patent applications.

A – True

B – False
15 – A factual finding is ordinarily required in order to deem a claim patent ineligible under §101 by the PTO.
A – True

B – False
Short Answer Questions:
1 – If during patent prosecution you receive a final rejection, is your only option to appeal?  Explain. 
2 – Why might you file a provisional patent application instead of filing a nonprovisional patent application?  Explain.
3 – Why might you not be able to identify all of the patent applications currently owned by your competitor?
4 – How is claim construction performed in a patent infringement trial when on appeal?

5 – How could the drafting of the specification be used to narrowly interpret the claims as issued?  Explain.

6 – Do you still need to comply with the best mode requirement?  Explain.
7 – What kind of support must you use in the specification to support a means plus function claim directed to computer software?

8 – How definite must the language of a claim be to meet the definiteness standard?  Explain.
9 – If you are including a range in a claim in a specification, what must the specification include?  Explain. 

10 – Why would you normally want to have both broad and narrow claims in an issued patent?  Explain.

11 – When does a preamble limit the scope of a claim?  Explain.

12 – Is simply showing all of the prior art elements are available in the references enough for an examiner to reject your patent application as being obvious due to the combination being a predictable result?  Explain.
13 – Can you properly patent a combination of familiar elements according to known methods that does no more than yield predictable results?  Explain.
14 – Is the obvious to try rationale a proper basis for rejection dependent on the possible number of solutions available?  Explain.
Bonus Questions (for test 1):
1 – If the experimental use exception applies, I may be able to file for my invention even if I have been publicly using my invention for more than a year.
A – True

B – False
2 – Under the AIA, if I disclose and file a particular invention first, another who conceived the invention before me will not be granted a patent on the same particular invention if the other disclosed and filed second.
A – True

B – False
3 – Pre-AIA, my secret but public use of an invention bars me from properly seeking a patent on an invention that I have been using for more than a year? 
A – True

B – False
4 – During patent prosecution, I can swear behind a reference:
A – Under AIA law

B – Under pre-AIA law

C – A & B

5 – A U.S. patent application is deemed prior art as of:

A – Its publication date
B – Its filing date with the USPTO

C – A different date beyond A or B
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